+ g B
Mo AR E FR 83 £ 172 %1k oo & B2 EEFT I
MKIS
ket 2 E(PHT. )R m Ak - EF 2 R AR E R (B TH
AP jeER)e®mt o 2 Famsesr £ 5% 0,10,20,30,40 2 7 /4k/E 1
BRfFr w2 ifRe R 6BAIE 4R  S55FR > 2 HEM
ﬁ\ﬁ\@ﬁ@%%ﬁﬁﬂ’ﬁﬁkﬁﬁiﬁﬁﬁﬁmo?@ﬂﬁi”“ﬂ
R ;‘}éﬁ}:“,% TF R RGEHRT G RBE A E 2 RERFER
BERTAOERM o R ETEAEDLRUET 30 2 T/HRE LT ER
FoomA SR T RE AR FET TG 1230 & o

e FAR A At $F 9N EH RN N oo B 2 22 EE5T 5T
MXRIS
AL P g BRI AR RO REE N2
el 2 3o Aot > AR B2 g E A NG 3%
1.4% > 1.5% (iz 57 = )2 2.0% > 1.4% » 1.5% (i% % = ) o #-3 fhj% 50 & 5 4
Pk 2 2 R AL > Bl R o BARIL 0 A N G R R AT - e
% 100ppm > e J2 = 87 — 3 e fiE R 0 RJZZ SRS R 4o iR 100ppm
BT w DTS R ek 0 U G DHRRIL 0 b EAF 0 Rp
100 BiefFd g - S 10 22 s K> EXFRT X
BRPLEEFSTAE - B5FR O BASFTERE TRLEZ X Ha
ﬁﬁﬁﬁﬁﬁ*ﬁﬁﬁﬁﬁ%ﬂ%ﬁﬁéﬁﬁﬁﬁ*’$?$§1@F$%

FHEERAESY R EELLYE5 0 A BARE Y 1°Brix °

BoHEGRIPARRBRFOERRZ22E
MR
v e BT > Ra Had@ AT S AR 2 AT 7R
hic2 £ 2k NaCl ERZ B Y > 7 BEE 9 TRt i3 Wi
&ggﬁg&ﬁaﬁ%%gz%ﬁwawﬁéﬁvﬁm%AQQ%%aQms
NaCl z -k # s ? » - F R Py B2 F0 FTEFLA 17 URBERA
NG R Fod TR B KT 0 23 BERK(0.5% NaCl)? > & 3
0%3 0.25% NaCl fu® 2z § it i X R~ FE S A2 b of R AP BIRE o





